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Find the dickanet bekween 0 and by
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Find| e | componen} form and majm'#vdt
of —He vechor

szponm{, K <wvpv >= (K’Ul,K’Uz)
o
Hagnitude |7 = 4/VE+ VE+ VE length
direotion - _ z
7l

find dhe| Componenl} fosm and mognityde
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I find PQ acd PR

2. find P_C.Q X Fl)l
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3. find Ona _'|P_c') P Square uaiks .

3. subskitvbe z=0 inbo P plane equations and sobe

simultancovsly for X andy.
Y. Give N,yz coordinates. Then, parometurize pacalle! Yo .

Find the limik ). frad ke limik 0F cach companent 2. Evalvake hmiks.
W pocition of (o particke inthe xy=plane—at—Hime—¢ i ity —ftfai{t*
Find | an cquaton in X and y whose grath it Mac parh of the | particle .
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I. X-coord- cqual 4o i. 2.5olve Cor & in derms of X. (z + a)? = 2* + 20z + o°
3. subskibbe x Wy ana' solve forgt 5. Find velociby vector

u. find velocity v (t) = dt =8 El at +=c. by plvggng t
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U. repeat for t=
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A_hnc_pases Aovgh o point P o it
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£ind| equalion gor J= ai+b)
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1. substidote T in aysbysc

2. substitote P for x and Y o ind €

3. to graph e, Sck %=0 for Y- intecept
set y=0 for x—‘-MwaH—
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find| the \acea of a| driangle determined
by po'mk P1Q-and-R -
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e
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— -
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2. Paamcierize

find a Parmc'l‘ﬂzahan for | Hhe e seqment
Joining Hhe PO"V{T P ad gq.
I find PQ
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Find+he equation gor the plane Hiroogh
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I- Find &;‘.Aa R
2. find PQ x 7
3. subclitute Fam-\- Pin PQXPR
0 He form Ax#By+ Cz = D
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Y. Solve for O
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Xry+2z=0 and X +y) ¥2n =0
I. frnd normal Veohors i+ § + K
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u. Distance g =

Find e Pofnl— P, lat which [the hae inkersects

Hae planc .

1. Substitute each coordinate n Hhe equation
oF 4he plant:

2. SmplFy by molkiplying each polynomial.

3. Sole For +. Substitule back ot
pacameterization line.

Find o paramekization of the hae o which

planes intersect.

I Find notmal veckolS &) and B .

. -
2 find WX Wy T N

(?) + speed at .
Y. v-
|
The rit) = (t+H2)id (”/:“)J F(2°) K ie Hie posibion
of a Pacticle 19| Space a¥ Fime t+ Find Ll angle bekween i
necelecation at fime v=0. 3 Find angle
2. €10d a(-l—) at €. 1 urv
fuf+ ol

find pacsmmetiic| equations for the Ve ok i | +angent | Lo dlae
N e gF Fhe gien paranelel Jalgd T

. Find v(+) at {- o to get tan liac (x,y,z)

d

Z fund velocity v(t)— — = E'_ di] of f(¥). 3. zzaiu:;-.t vet)
4. parametize tan Imc (x,y,2) pavallel b v(0)
{;quq-}"a/\ (), 4 20 descrrber the motion of a—particle
moving | along Hhe vaid circle -
1. vet) and act) then speed 2. V-a

cquation

veloeity—and
I u(e) and act)

0 = cos

{Isinf) (H st T (4K, EF0

evaluake mk,m) 1. lif 4pphtal=le use v substidotion,
3. evalvake limits of integration.

L2053 y=0 Uz 64 = (020 | adjuct ik Lo ;
L5153 U6 et = 6%t b ) 1ndegral Lowndarids

colut L inital value problem for ¥ ac|a Vector fuackion of +.

Il inkegaate . 2. evalvate v(0)= T4) fo £iad C.
3. subshivbe C p TC4).

co e Hie rortial-value poblem for 7 ac-a—gunekion—of -

lfr(i)dt=R(i)+C 2. vre %\z:ulon}wl tonrtants ot £=0.

dq?r| =
q+?

2. /i_?t"‘,_c Y, F)‘I\d valves of (C by url.l\, v (0).

At kime =0, o packide 15| locaked a¥ ¥k point (1,8,8) .
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- . X _Velo
L Y\/(H warbank acdd- 2. find b5 3. find Il W,l)—cﬁ,y
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7. inkegrak $d¢ (8. 6nd (B ak 42D 9. (2= V) (1,5)8)
(0- Subthifute 1n YCH 0 Solve.
A P“’j“«‘f;'t = (upcos)t  mulkips m/sec by 1000 0.000 Em/sec

Vo= 960 s«c initlal speed |8 —| 40°| nogld of pojeckipn Rz 21Em

An q#»lek s a Jor 16 shot at an ang(t of D’ S,Efl.’m)hul opecd

= (za+ (pacosa)t)i + o+ (wsina)t ;_qt")j az lavach angle

|« Fird {-mld 4o 2. rcaccange tems| gor Y fowmilo 9= gravity at 22.
3. .( )04—(«1 madt ¥ oye = A%+ BE rC _—bim "
Yo pind & when ¥ =0, vse quqdra-hc forodlon . 2a ans:

§. Evalvake, use positive roo& b Fird dovelid  dickanceT-vie X pocmilon with & yalue- feet
Y

cos?e + §in%0 =1 Ieudu -

(0,1) = e
~— (e”):—'E
e D
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Degree | Radians | sin® | cos6 | tan 0 | cosec | secd | cot®
0° 1] 0 1 0 - 1 -
30° x 2z L6 RE) 2 23 V3
6 2 2 3 2

450 x vz RE) 1 vz vz 1

—_ 4 2 2

60° T ¥ L Vi 23 2 L6
3 2 2 2 3

90° TZ—‘ 1 0 - 1 0

e | X[ 3| L g 28, |
3 2 2 3 3

e | O] i | vz | oa

150° S 1 ,ﬂ ,E 2 ,iﬁ -3
6 2 2 3 3

180° b 0 -1 0 -1
3

270° — -1 0 - -1 - 0
2

360° 2n 0 1 0 1

EEXINE CERAED I COMMON FACTORING EXAMPLES
d
L | 4= i —
«® x2—a?=x+a)(x—a)

:—x(sinx) = cosx
b x% +2ax + a? = (x + a)?

d .
g5 (cosx) = —sinx

S x?=2ax+a’=(x—a)?

d
E(lanx) =sec’x

L Geenssexax | x24(a+b)x+ab= (x+a)(x+b)

d
——(cscx) = —cscx cotx
dx(csc) 'SCX

x% +3ax? + 3a’x + a® = (x + a)®

d
4 = —osc?
5 (cotx) = —csc?x

x}*+a®=(x+a)(x? —ax +a?)

| — :—x(sin"x) e e
Leosin=- | x3—a® = (x—a)(x* + ax + a?)
a
E(tan"x)=$ X2 — @2 = (x" — a")(x™ + a™)

:—X(a%) = a*In(@)

d ) = X
T e =e

d 1
E(ln(x)):; x>0

d 1
Zxnlxh =2

d 1
x l08a(®) = @




